
 

Practice Exercise 

 

Direction (1-10): Choose the most probable 

conjunction among the given choices to join two 

sentences A and B in 

(a) and                           (b) because 

(c) neither, nor               (d) but 

 

No. a b 

1 He sells mangoes He sells oranges. 

2 I honour him. He is a brave man. 

3 Rama reads for 

pleasure 

Hari reads for profit. 

4 We decided to set out. It was late. 

5 He is not a knave. He is not a fool. 

6 The sheep are grazing. The oxen are grazing. 

7 The boy is here. The girl is here. 

8 I like him. He is dangerous. 

9 You are tall. My brother is taller. 

10 Hari did not come. He did not send a 

letter. He did not 

send a letter. 

 

Direction (11 - 20): Fill in the blanks with correct 

conjunctions. 

 

11. He ran away ____ he was afraid. 

(a) and                         (b) because 

(c) but                          (d) also 

(e) None of these 

 

12. Sentinels were posted ____ the camp should be 

taken by surprise. 

(a) unless                      (b) than 

(c) though                     (d) lest 

(e) None of these 

 

13. ____ you say so, I must believe it. 

(a) Since            (b) That 

(c) While               (d) before 

(e) None of these 

 

14. I waited for my friend ____ he came. 

(a) still                         (b) unless 

(c) until             (d) though 

(e) None of these 

 

15. I do not understand ____ it all happened. 

(a) also                         (b) because 

(c) how                         (d) while 

(e) None of these 

 

16. Pizzas ____ burgers are my favourite snacks. 

(a) or                            (b) and 

(c) but                           (d) for 

(e) None of these  

 

17. This is the place   ___ we stayed last time. 

(a) when                      (b) where 

(c) and                      (d) but 

(e) None of these 

 

18. You won't pass the test ____ you study 

(a) if                              (b) unless 

(c) when                        (d) where 

(e) None of these 

 

19. The merchant employed many carpenters

 ___masons. 

(a) or                              (b) and 

(c) but                             (d) i 

(e) None of these 

 

20. The monkeys came down ____ all the workers 

were gone. 

(a) where                       (b) when 

(c) if                               (d) unless 

(e) None of these 

 

 

 

Answer 

 

1. A 2. B 3. A 4. B 5. C 

6. A 7. A 8. B 9. A 10. C 

11. B 12. D 13. A 14. C 15. C 

16. B 17. B 18. B 19. B 20. B 

 

Conjunction 


